EARAROBEEIERT — 2 N— IBISH —F

201854 H22H0 (B) 2EIKR5H

4R [oE i R ‘ (xfg] £ ‘ [REmshE] — | & (&) 14000 B
[A&4£] 1 7% :200,000" ~ 23%&:46,000”  33%&:26,000H”  43%&:18,000 M .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s o5 | WAEEE 1:32.3 1-1-1-1 | 40.3| — 1 45 |ZFE@E (KR)
1[1]1]| FA3A 56.0 fay Coy | B mzuxy b
L:795278— B:77—<Ly K iiiEe]
GRS :33. —0-3- . — Wi RY (&)
olgliol EZIHFUT it 4 54_0% 1(393)7 2-2-3-2 | 41.3 4 tg)a L
R:2¥—hT770A> B:AATEIALT biacse
— o5 | AMRE 1:33.9 3-3-2-3 |41.7| — 2 486 | HIEZEI (KR)
3|5/5/7 17584 56.0 11/ Gy | ApkeEER
A4 agyLyy B:YAME=FFK J=HYrTr—LA
o . BRERE : -9-8- — FHE (KR
4 3|E7/arFut it 6 e 1(.13/42.)0 9-9-8-8 | 40.3 6 <4+2535 FERES
R:2FA4d—I K BE7/UHA 2L ayiitae]
N o= Ra ST i :34. -8-7- . — BEAS (KR)
sl7| 7| Hs—T52 1 B o5 B 1(314)2 8-8-7-7 | 41.0 8 (4_9; %ﬁmi
Rihrexy BAAEIRIE— SIEES
SR . EERE .34, —6-6- . = 1&iEthEl (KGR
61708 HL LIS 5 4 6 56_0 (12314/26) 7-6-6-4 | 41.3 7 a:g;) L]
L:Nn—ErTv— B:XMNJ—bXEAI TS
= it 4 | HEEME— 1:34.6 6-5-4-4 | 41.5| — 5 408 | /I\PEEIE (B%FE)
d + R B 54.0 (5 E) (cay | IHEELER
Lib—trhvLAY BTFRIAVELY Y P
. .= . ROB— : 44— — BRAS (KR)
8 2| 7>z ARKIAY o 54.0 1(53/‘2')8 dracda 419 ’ <4+331) fzggmgg ’
R:ATIRIA4Y B:SE-FYvUF DS
B LR .35, -10-9- . - BEREAS (KR)
N - NEZEZ AR YA AN R R O 8 s
LNn—ErTv— BHIIILTLX BEZ &y
3 = P= o i o4 | HLER 1:36.4 5-7-10-10 [ 42.6 | — 3 | 405 |fEBEHEE] (KIR)
10/8/9|XI=~YNTZ > 54.0 (6) 1) | L=
LNNLVTSY BigAZ—ETI ILIL, Y28 T7—L
® 1—F—@EBIERL
13—+— |1,10,5,2,9,4,8,7,(3,6)
2d—F— 1,10,5,2,4,8,9,7,3,6
30—4— 1,5,10,(2,4),8,7,3,6,9
43—7+— |1,10,5,(2,4,8),7,3,6,9
[ N5
BB 1 1800 | | 74 K 1-10 270 | | # = 1-8 340/ | | 3EAE 1-5-10 540/
B B 1 1004 =5 120H B = 1-10 980M JEE 1-10-5 2,480
10 210M 5-10 420M B H 1-10 1,050
5 1209

ABICOVWTRDTEEERROODE. TR LIV,



